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The Reduction Method of Chebyshev Polynomial

Huang Yongyu
(Jianyang City Meteorological Office,Fujian Province 354200)

Zhu Yingzhen

(Fujian Meteorological Observatory ,Fuzhou 350001)

Abstract
The principle of the reduction method of Chebyshev polynomial in the common algo-
rithm of integerizing chebyshev polynomial was interpreted. A calculating method was given
to reduct the polynomial quickly.
Key Words:reduction Chebyshev polynomial largest common factor division with

remainder recurrence arithmetic





